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भौतिक िर्फ  
qm=; j8f g ljj/0f रकम 

1 1 बयरघारी ढऱ निकास आयोजिा 500,000.00        

2 2

au/]jhf/ 8'd|]af]6 x'b} sfln gfusf] yfgaf6 afnf]bo jf]l8ª l;dnrf}/ 8f8f3/ x'b} r'g8f8f 

cfd8f8f, 9fF0f rf}/ u|f=;=sf] gFof 6|\ofs vf]Ng] र स्तर उन्िनत 500,000.00        

3 3
lzj dlGb/ b]lv u};/f hf]g gofF 6«ofs vf]Ng] / lgdf{0f ph]nL8f8fF b]lv b]jLvs{, tf?s, lrnfpgLvs{, kv]/] 

jsfbL u|f=;= dd{Tf 500,000.00        

4 4

;f}/f u}/f lnˆ6Lª le/sf]6 sflnsf e}/a dlGb/ -a[Iff/f]k0f ;lxt_ afg]]yf]s  e~Hofª x'b} blnt 

a:tL  vf= kf= lgdf{0f  500,000.00        

5 5 vfg]kfgL 6+sL,  k'n lgdf{0f 500,000.00        

6 6 le/sf]6 gu/kflnsf j8f g ^ leqsf ;j} sRrL u|ld0f ;8s dd{t र स्तर उन्िनत 500,000.00        

7 7 km]bL vf]/af/ ;fnLsf]if u|f=;= dd{t ;Dxf/ j9x/], df]xg8f8 gof 6«ofs vf]Ng]  500,000.00        

8 8

 cf]Nofªlb, kfy|]9'uf b]]p/fnL b]lv y'DsL ;fdflb x'b} k]Nsf rf}/ hf]8g] u|f=; lgdf{0f  b]p/fnL 

u|=;= lgdf{0f l/h' sd]/] Wo"d kfOk vl/b, u|fe]lnª 500,000.00        

9 9 vf= kf  आयोजिा 500,000.00        

10 10 dn kfgL kfªyfª rf}/, s';'Gg] uf}g8f8f af6f] ;'wf/ / lj:tf/ 500,000.00        

11 11 l;?vs{ sf]  vf]nfvs{ vf= kf आयोजिा , le/sf]6 !! 500,000.00        

12 12

/f]lhvf]nf ldbL{ vf]nf x'b}F v';flg8f8f e'?ª8f8f u|=स  lgdf{0f uf]s]z wf/fkfgL b]lv 

uf]s];6f/L,a];L,krf;] x'b} cfg] rf}kf/L s[lif{ ;8s lgdf{0f -a/fx vf]nf vf=kf k'glgdf{0f _ 500,000.00        

13 13 zx/L :jf:Yo lSNgLs / s]3f b]p/fnL uf|=;= lgdf{0f 500,000.00        

14 14 9fk's km]bL kmf]lS;ª l/l;ªvf]nf rfk6f/L 5]Sg] rf}kf/L ;8s :t/f]TgtL / gofF 6|ofs vf]Ng] 500,000.00        

15 15
bfl;{ª, x]u8f8f , dflem ufpF, sN5L 8f8fF x'b} hutk'/ :jf:Yo rf}sL, n]Vg9'ªhf cf];]s u|f =; dd{t tyf 

lgdf{0f  tyf ;'s'/] vf]nf tyf uhf}8L vf=kf= ;d]t 500,000.00        

16 dd{t ;Def/ 840,002.00        

                                                            s''n jh]6 8,340,002.00      


